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12971 AHY 67,482,102 26,051,671 39,553,349

1 |OEEE SO AL i A ANE =2 15,000 7,500 7,500 HE
2 |OHIG2[RIZIEHN SAAY X2 H| 2| QZHEH| (S 2) 74,529 60,000 14,529 og
3 |0BEnsts 1270 NE 2% 721,100 120,000 601,100 HE
4 |OFOHQl Bl mIA|HOFsh x| 371 A&, 2= (EHA) 192,000 96,000 96,000 HE
5 |OZGHEN AR x| (AhZYZH A elet g 60,000 60,000 - og
6 |OAH|ET AmQl FE (AhHZAZH T A et 3| 31,500 31,500 - og
7 |oZYZH el stttz JhE XY (AhZYZH A elet g 90,000 50,000 40,000 | ES
8 |OT= 5Y% HH X|@H]| HM 600,000 300,000 300,000 | X|
9 |OFTIIAYL BYst =7 1871 A&, 2 360,000 144,000 216000 | HE
10 |OAaHAHMEY 2EX& 570 AH|XFERK| 130,800 90,000 40,800 HE
11 |OAISI MR 7| SETHAY armd AME | ZAEASEEN X YME 70,000 70,000 -l EE
12 |OAZIM AN 2AHe) HH 29 2 E AR AN X A M E 100,000 100,000 - HE
13 |OAZ|H AN HEEY SEX| Z2NE Z A=A AN X 2 M E 100,000 100,000 -l EE
14 |OAZ|E AN QX Ad =213 ZAE M| H A X AME 50,000 50,000 - n[k=4
15 |OOr2 38K Al x| 1871 A&, 2 1,520,000 760,000 760,000 | HEE
16 |OZAHO|R AE|Y |4 EHA|(EHH0| AL TS 9l 600,000 200,000 400,000 HE
17 |OMASE 18 7t 7tAANH 25 1870 AE 2 180,000 54,000 126,000 og
18 |OZA|IZ7tA A9X|Y S54X(H| X2 ANE 2 10,342,000 1,034,000 9,308,000 HE
19 |O8HE LPGAEKNTH A A|HHXH| X A2 900,000 450,000 450,000 | 2%
20 [OMAEE =S HI|AH JHM 1870 AE 2 1,356,106 377,533 978,573 | X|
21 (OB E0rE ZEOWA2(X | 1770 ANE, 2 921,690 143,640 778,050 HE
22 (O¥AE| 7Y n8SHNM XA Ax2| @=7|¢ 500,000 500,000 - BEE
23 |OF YD HEX|A 7 A2 154,000 77,000 77,000 og
24 |OBENY ZENE Az ZRAEZZN LAY 150,000 150,000 HE
25 |0 AEEY UXt2| X[ ZAEZ AN LME 165,000 165,000 H|X|
26 ([OFEEY Z2NE FT ZARTEN Y LAE 1,590,000 1,590,000 HE
27 |OAlT YR EMEH 25H S X 1870 AE, 2 43,200 21,600 21,600 HE
28 238712 X3 % }E2FH| SOl Y MUK G 93,120 93,120 - n[p=S
29 |OdielrAlE U XA AH 25 Zo-gHrsd 624,000 624,000 og
30 |OFE MHES Y=X¥ BoQAMHESED o 47 THA| 193,250 154,600 38,650 g
31 |O¥YEY === XY e R e 68,000 34,000 34,000 | EX|
32 |OTERYUM S AFA|E 2| 871 AT E 450,000 135,000 315,000 | X|
33 [OFME +EYH ERHIXIY ZEA Q67 AT 200,000 60,000 140,000 | EE
34 |OFTEMNEEZCIXNY X SHEXNE FAZ|AL OfL|E S 5070 A 350,000 350,000 I X|
35 Fog 2Mat XY SO AIE 120,000 60,000 60,000 | O
36 |OAF=M 2EE XY RN 355,800 177,900 177,900 o0lg
37 |OEEESE SHINM ALY T 180,000 50,000 130,000 | EHE
38 MotE HAESLA 23} AIY LN 40,000 20,000 20,000 | X|
39 (Ok CHY 230 2| 370 A (05, B0 5, 2 5t 2 13 3) 266,000 210,000 56,000 HE
40 |(OX|YEHH AHEHE 2 1870 Al Al E 5= 320,740 108,000 112,740 5
41 (OBE AlE S40rE FH| HATES 462,730 50,000 50,000 | EX|
42 |OZ=olE>A X| ) 237 RLE BE S 147H £HH) 250,100 200,000 50,100 os
43 (OZ&0&EH (Ahst=0)E Bz At 202,630 100,000 12630 | EE
44 ZRTEF0E oot (AhZJeloE 134,500 80,000 10,000 HE
45 |(0ZUUFH =X AhZJE0E 89,800 40,000 4500 | EE
46 |OZAGUSH| Ahst=2 AT s ZA=X|F 89,730 40,000 5,300 HE
47 |(oZ0l=0H (Ahet=0|ags ZYUEX[3 110,430 40,000 4430 | EE
48 (O™ =ZEEZAL (AhstReotds Z=X3 79,000 36,000 30,000 HE
49 |0Zo=0lol gt (Ahet=0| L /A =3 41,400 10,000 3000 EE
50 |OZ¥ oEotZ|E EME (AhEHo|Hot2|H 2 E | 158,400 25,000 3,400 og
51 |OMERIME 2 243t AT AT 149,000 60,000 70,000 | EE
52 |o=o{Aa x| Zatjstn st 23t 167,522 19,000 HE
53 |0OZAEFTOEEE 2 Sh2 500 3| 2 R =8 T 153,722 133,120 15402 | S%
54 |OZRAZ=F0{Z A st s0tol 3| 4 el =35 785,200 4,800 400 | X|
55 |OFOfoIxEN FshatEts 2501013 3| B 80,000 50,000 30,000 | 2=
56 |OCH&E ASSAN HE X2 (MhZ & 22y Tt 700,000 700,000 BHE
57 |0Z ALY X (A Z L 2shRf et 1,000,000 1,000,000 HE
58 |oZHXELHSA statcfetm Q| 3 461,470 300,000 161,470 og
59 |o=W 2Rt Fast =7 ZEHMAZ Q9 800,000 400,000 400,000 =3
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= 0f Ato4 RHEE) °F
60 |OX2Fsta X|detaet =2 ATHA| 2 A B 72,810 36,405 36,405 | HX|
61 [OF=HIFSA=H =EAY 400,000 200,000 200,000 HE
62 |OZYHI Hr=Z=20H AFAIE 60,000 30,000 30,000 og
63 (0T ZE7| P=EE0FFIEF ZRALEAY 98,250 15,000 83,250 x|
64 |OAtR|EX|A BE=1S X2 1870 A&, 2% 219,847 60,000 159,847 HE
65 [OXIGAZEToIN E-ds} 1870 A& 1,262,137 118,800 1,143,337 HE
66 [OEZCHN 3dgs XA 1570 2= EHY| 212,000 212,000 - HE
67 |OSEFSA 2| et X X 87 Al 20,000 10,000 10,000 og
68 [O=Q SX|AIE BAX}t s 37HAI 2 3,000 3,000 -l EE
69 |(OXYGXtEME ATZLDALY Z A Z IR M E T 25,000 25,000 - HE
70 |0Z¥ MEMIFE HESRZ BHs} X ARLEASXHS| ZAX S 140,000 140,000 - og
71 oY 7|HAl 2+l Ik ALY S| (191H) 6,000 5,000 1,000 g
72 |o=oltiE 7|52 X|¥ SFAIE 20,000 10,000 10,000 | HEX|
73 |0 QSX|A|E SAX A F AL ZRELIEX|HT 10,000 10,000 | X|
74 |OLQEXZSTIAY B2 T3t 01 8|2l = i3t | 9 4270 EHA| 324,904 250,000 74,904 os
75 |OTOHQl SSEEIE M o1 x| TR HOIQIS XAl AN 4,972 4,972 HE
76 |OFOHQl BSMEIPY M ol X (AT A& 18,018 3,603 14,415 og
77 |OXH SRt & x| (A ZHAFTIT 3 o A CH 10,000 10,000 - g
78 |OZTIH M SHAHAEIA 2 F 670 A%, 150,000 75,000 75000 | HE
79 |OfH ISR EHBAY 670 AE = 120,000 60,000 60,000 HE
80 |Oo23+ FZESHA| EHAIE 30,000 15,000 15,000 | HEX|
81 |OZA=OHEN Yl 28 X|J Z=0 gt o3| 64,000 40,000 24,000 HE
82 |00 IHABSTIAIYE 2 K& (XHA) ZHAE Q110 AT 709,769 141,954 567,815 L
83 |o%2eEX| A ANE 355,540 71,108 284,432 =
84 |O¥Ad X=X} L3 LAEHAHSSTISME 16,000 16,000 - | HX
85 |OFAUHREH BAX}L At X4 ZAZHAAMEEXME 25,200 25,200 - HE
86 |OX|OH=Ql MEof iz ZX|7| E2X| 1670 Al (&AM FQl) 23,100 6,930 16170 | 2%
87 |OEQZREX SYX|AMA += 570 A& T 250,000 125,000 125,000 g
88 |oit=E: A XY 1870 AE, 2 1,650,000 825,000 825,000 os
89 |OAtR Aldor el 2R2EF X 1870 AE 2 926,000 463,000 463,000 g
90 |OAME-IETAYYA 2HFM X 1BAlT A ESTHMAL 3,189,200 1,366,800 1,822,400 og
91 |Os=E8=4MY O E X &l&st (WL USEGESEAQX| UME 200,000 200,000 - og
92 |OAE =t FAH| XA ZAEngH 372,000 186,000 186,000 | EE
93 |OAITE? =X YME X HYTE NEs 160,000 48,000 112,000 HE
94 |O=AR SERK XY SESSYXA MY 140,000 140,000 og
95 |OTARLE HEHLY s ZAX gL 180,000 90,000 90,000 | OF
96 |OF5I7F HAF AdEt XA AlZa 600,000 90,000 510,000 [ HX|
97 |O&3 At 7|Et1E A& 150,000 22,500 127,500 g
98 |OE=PAEYA™HEEF 870 A& 8,000,000 2,400,000 5600000 | HE
99 |OdeN =4 O E X SHZU FAX AR @H A AT 140,500 50,000 90,500 5
100 |O% MYs7t REFPEX 25 ZHAIR Q| 1470 A4 65,000 13,000 52000 | HE
101 |OH BXF ALxHY X2 HYT 66,000 10,000 56,000 | X|
102 |OH SEAIH X|¥ ZHAE Q] 1271 A1 &2 964,667 144,700 819,967 og
103 (00 - At QAT Z FH|X| ) AFAHQ 157 A Z24 859,000 128,850 730,150 | X|
104 |O=7IXESH 23 A #e HotX| 9 47 2 64,000 32,000 32000 | 2=
105 |Od=8E FH HE X 1870 A&, 25 8,662,000 4,331,000 4,331,000 | X|
106 |OLHAIE LR ZAL S MFEE 1770 A& (S E Hel) 200,000 100,000 100,000 | 2%
107 O AXSAEDOIE 2HHI4M 70 AME 491,413 187,660 303,753 HE
108 |OHAlRE 7tE++E X[ ¥ 1870 A E, 2 1,455,701 223,080 1,232,621 og
109 (Ot um4-HItHES AIHX| 2 As7|EsMdEy 37,500 11,250 26,250 | X|
110 |OHH4-HS| | 7| =F 5K N = 360,000 108,000 252,000 | =%
111 |O4-H2| @ sUHEX| =X As7|EsMdEy 72,000 14,400 57,600 HE
112 (ool M=ol |4 X N = 100,000 50,000 50,000 | EX|
113 |OSEX A2 Z A= dete S4X|& AhsEX =X Y =AE D 7,000 7,000 oz
114 |OsEXEX} sPEE HEX| XY AEsd7|&dE 243,839 47,272 196,567 | HE
115 |OosZEdZE0E |4 As7|=MdE 500,000 150,000 350,000 HE
116 |O&=L0l Metetsd M- T2 - AEsd7|&dE 40,000 12,000 28,000 | HX|
117 |OTHaMENHZ R EATE| 4 (A2 EN ML= ATt 7,000 7,000 0s
118 |O&s=0Y FEX| B3 AEsd7|&dE 242,100 48,424 193,676 | HE
119 |0sE0d 4308 us As7|a=MdE 18,000 5,400 12,600 | X|
120 |(OZ ¥ HEfAY BAEL HEfE T 7| x| Al &= 110,000 32,400 77,600 H| X|
121 |O=0 S&50{M HFD(E27|) X & A&t 280,000 56,000 224,000 | X|
122 (o8l ME7| ofd ot EHH| (| 0|H)X| & Al &= 266,666 80,000 186,666 | HX|
123 |OOMALLL ZeroZt QHTEH| X[ A& 305,500 91,650 213,850 HE
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